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1. nqX/k Toj fdldh deh ds dkj.k gksrk gS \ 
 

1. Milk fever is caused due to deficiency  

of : 

(A) eSXuhf’k;e  (A) Magnesium 

(B) dSfY’k;e  (B)  Calcium 

(C) DyksjkbM  (C)  Chloride 

(D) iksVSf’k;e  (D)  Potassium 

2. fuEufyf[kr esa ls dkSu&lk nqX/k izksVhu dk 

mnkgj.k gS \ 

 
2. Which of the following is an example of 

milk protein ? 

(A) ,YC;wfeu  (A) Albumin 

(B) XyksC;wfyu  (B)  Globulin 

(C) ftu  (C)  Zein 

(D) dslhu  (D)  Casein 

3. ysDVkst cuk gksrk gS % 
 

3. Lactose is made up of : 

(A) Xywdksl $ ÝDVkst ls  (A) Glucose + Fructose 

(B) Xywdksl $ XkSysDVkst ls  (B)  Glucose + Galactose 

(C) ÝDVksl $ XkSysDVkst ls  (C)  Fructose + Galactose 

(D) Xywdksl $ Xywdkst ls  (D)  Glucose + Glucose 
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4. dSjksVhu iwoZoxZ gS % 
 

4. Carotene is precursor of : 

(A) foVkfeu A dk  (A) Vitamin A 

(B) foVkfeu B dk  (B)  Vitamin B 

(C) foVkfeu C dk  (C)  Vitamin C 

(D) foVkfeu D dk  (D)  Vitamin D 

5. fuEufyf[kr esa ls dkSu&lk foVkfeUk dksckYV 

esa ik;k tkrk gS \ 

 
5. Which of the following Vitamins is present 

in cobalt ? 

(A) foVkfeu B1  (A) Vitamin B1 

(B) foVkfeu B2  (B)  Vitamin B2 

(C) foVkfeu B6  (C)  Vitamin B6 

(D) foVkfeu B12  (D)  Vitamin B12 

6. Mh- ,u- ,- dh Mcy gsfydy ekWMy lajpuk 

izfrikfnr dh gS % 

 
6. Double helical structure model of DNA is 

proposed by : 

(A) okVlu ,oa fØd us  (A) Watson and Crick 

(B) Cywj us  (B)  Bloor 

(C) jkWcVZ gqd us  (C)  Robert Hooke 

(D) mi;qZDr lHkh  (D)  All of the above 



 

AG-2002 ( 5 )  Set-C 

7. fuEufyf[kr esa dkSu&lk Mh- ,u- ,- dk Hkkx 

ugha gS \ 

 
7. Which of the following is not a part of  

DNA ? 

(A) ,fMuhu  (A) Adenine 

(B) Xokuhu  (B)  Guanine 

(C) lkbVksflu  (C)  Cytocine 

(D) ;wjsfly  (D)  Uracil 

8. fuEufyf[kr esa ls dkSu&lk ,d olk esa 

?kquy’khy foVkfeu ugha gS \ 

 
8. Which of the following is not a fat soluble 

Vitamin ? 

(A) foVkfeu A  (A) Vitamin A 

(B) foVkfeu C  (B)  Vitamin C 

(C) foVkfeu D  (C)  Vitamin D 

(D) foVkfeu K  (D)  Vitamin K 

9. fuEufyf[kr esa ls dkSu&lk lgh lqesfyr ugha 

gS \ 

 
9. Which of the following is not a correctly 

matched ? 

    foVkfeu oSKkfud uke         Vitamin Scientific Name 

(A) ch&1 Fkk;ehu  (A) B1 Thiamine 

(B) ch&2 jkbcks¶ysfou  (B)  B2 Riboflavin 

(C) ch&5 ik;jhMkWfDlu  (C)  B5 Pyridoxine 

(D) ch&12 lk;uksdkscky,ehu  (D)  B12 Cyanocobalamin 
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10. fjdsV~l jksx fdldh deh ls gksrk gS \ 
 

10. Rickets disease is caused due to deficiency  

of : 

(A) foVkfeu A  (A) Vitamin A 

(B) foVkfeu B  (B)  Vitamin B 

(C) foVkfeu C  (C)  Vitamin C 

(D) foVkfeu D  (D)  Vitamin D 

11. fuEufyf[kr esa ls dkSu&lk lgh lqesfyr  

gS \ 

 
11. Which of the following is correctly  

matched ?  

foVkfeu   chekjh@vHkko  

     y{k.k 

 Vitamin Disease/Deficiency 

     symptoms 

(A) foVkfeu A      jrkSa/kh  (A) Vitamin A   Nightblindness 

(B) foVkfeu E      ck>iu  (B)  Vitamin E   Sterility 

(C) foVkfeu C      LdohZ  (C)  Vitamin C   Scurvy 

(D) mi;qZDr lHkh  (D)  All of the above 

12. fuEufyf[kr esa ls dkSu&lk izkd`frd gkWeksZu 

ugha gS \ 

 
12. Which of the following is not a natural 

hormone ? 

(A) vkWfDtu  (A) Auxins 

(B) ,fFkyhu  (B)  Ethylene 

(C) ,fClfld vEy  (C)  Abscisic acid 

(D) 2] 4&D  (D)  2, 4-D 
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13. Qyksa dks idkus okyk gkWeksZu gS % 
 

13. Fruit ripening hormone is : 

(A) vkbZ- ,- ,- ¼bUMksy ,flfVd vEy½   (A) IAA (Indole acetic acid)  

(B) ,- ch- ,- ¼,fClfld vEy½  (B)  ABA (Abscisic acid) 

(C) ftcjsfyUl  (C)  Gibberellins 

(D) ,fFkyhu  (D)  Ethylene 

14. fuEufyf[kr esa ls dkSu&lk o`f) jks/kd 

gkeksZu ugha gS \ 

 
14. Which of the following is not a growth 

inhibitor hormone ?  

(A) MksfeZu  (A) Dormin 

(B) ,fFkyhu  (B)  Ethylene 

(C) ,fClfld vEy  (C)  Abscisic acid 

(D) vkbZ- ,- ,-  (D)  IAA 

15. tM+ksa esa cgqrk;r esa iz;ksx gksus okyk gkWeksZu 

gS % 

 
15. A widely used rooting hormone is : 

(A) 2, 4-D  (A) 2, 4-D 

(B)  NAA  (B)  NAA 

(C) lkbVksdkbfuu  (C)  Cytokinin 

(D)  2, 4, 5-T  (D)  2, 4, 5-T 
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16. fuEufyf[kr esa ls dkSu&lk vkWfDtu gkWeksZu 

dk dk;Z ugha gS \ 

 
16. Which of the following is not a function of 

Auxin hormone ? 

(A) dksf’kdk nh?khZdj.k  (A) Cell elongation 

(B) dksf’kdk foHkktu  (B)  Cell division 

(C) vxzLFk izcyrk  (C)  Apical dominance 

(D) vkuqoaf’kd ckSukiu  (D)  Genetic dwarfism 

17. vkj- ,u- ,- ,oa izksVhu ds fuekZ.k esa 

dkSu&lk ikni gkWeksZu lgk;d gS \ 

 
17. Which plant hormone is helpful in making 

RNA and protein ?  

(A) ,fFkyhu  (A) Ethylene 

(B) vkWfDtu  (B)  Auxins 

(C) lkbVksdkbfuu  (C)  Cytokinins 

(D) ftcjsfyUl  (D)  Gibberellins 

18. chtksa esa lq”kqIrk voLFkk dks rksM+us esa dkSu&lk 

ikni gkWeksZu lgk;d gS \ 

 
18. Which plant hormone helps in breaking 

dormancy of seed ? 

(A) vkWfDlu  (A) Auxins 

(B) ftcjsfyUl  (B)  Gibberellins 

(C) lkbVksdkbfuu  (C)  Cytokinin 

(D) ,fFkyhu  (D)  Ethylene 

19. vkj- ,u- ,- ,oa Mh- ,u- ,- esa ‘kdZjk ik;h 

tkrh gS % 

 
19. The sugar found in RNA and DNA is : 

(A) jkbckst ,oa ;wjsfly  (A) Ribose and Uracil 

(B) jkbckst ,oa MhvkWDlhjkbckst  (B)  Ribose and Deoxyribose 

(C) jkbckst ,oa QkWLQsV  (C)  Ribose and Phosphate 

(D) MhvkWDlhjkbckst ,oa jkbckst  (D)  Deoxyribose and Ribose 
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20. U;wfDy;ksVkbM esa ik;k tkrk gS % 
 

20. Nucleotide contains : 

(A) tqM+s gq, {kkj  (A) Paired base 

(B) ,d ‘kdZjk vkSj ,d QkWLQsV  (B)  1 sugar and 1 phosphate 

(C) ,d ‘kdZjk] ,d {kkj vkSj QkWLQsV  (C)  1 sugar, 1 base and 1 phosphate 

(D) ,d ‘kdZjk] ,d {kkj vkSj rhu 

QkWLQsV 

 (D)  1 sugar, 1 base and 3 phosphates 

21. fuEufyf[kr esa ls 2C H On n n  fdldk 

lkekU; lw= gS \ 

 
21. Which of the following is general formula 

2C H On n n  ? 

(A) eksukslSdsjkbM~l  (A) Monosaccharides 

(B) MkbZlSdsjkbM~l  (B)  Disaccharides 

(C) vksfyxkslSdsjkbM~l  (C)  Oligosaccharides 

(D) ikWyhlSdsjkbM~l  (D)  Polysaccharides 

22. eksukslSdsjkbM~l dks 
------------------------------- 

ds vk/kkj 

ij mifoHkkftr fd;k tkrk gS \ 

 
22. Monosaccharides are subdivided on the basis 

of ................... . 

(A) ca/k dh la[;k  (A) No. of bonds 

(B) dkcZu v.kqvksa dh la[;k  (B)  No. of carbon atoms 

(C) vkWDlhtu v.kqvksa dh la[;k  (C)  No. of oxygen atoms 

(D) mi;qZDr lHkh  (D)  All of the above 

23. dkcksZgkbMªsV dh ewy lajpukRed bdkbZ gS % 
 

23. Basic structural unit of carbohydrate is : 

(A) eksukslSdsjkbM~l  (A) Monosaccharides 

(B) MkbZlSdsjkbM~l  (B)  Disaccharides 

(C) VªkbZlSdsjkbM~l  (C)  Trisaccharides 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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24. fuEufyf[kr esa ls ;g fdldk lajpukRed 

lw= gS \ 

2

CHO

|

H C OH

|

HO C H

|

H C OH

|

H C OH

|

CH OH

 

 

 

 

  

 
24. Which of the following structural formula 

is it ? 

2

CHO

|

H C OH

|

HO C H

|

H C OH

|

H C OH

|

CH OH

 

 

 

 

 

 

(A) Xywdkst  (A) Glucose 

(B) ÝDVkst  (B)  Fructose 

(C) lqØkst  (C)  Sucrose 

(D) ekYVkst  (D)  Maltose 

25. ,ekbyksl dks vk;ksMhu ds lkFk feykus ij 

---------------------- 
jax iznku djrh gSA 

 
25. Amylose gives ............... colour mixed with  

iodine. 

(A) yky  (A) Red 

(B) uhyk  (B)  Blue 

(C) dkyk  (C)  Black 

(D) gjk  (D)  Green 

26. LVkpZ ds izdkj gksrs gSa % 
 

26. Kinds of Starch are : 

(A) 2  (A) 2 

(B)  3  (B)  3 

(C)  4  (C)  4 

(D)  5  (D)  5 
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27. Xykbdkstu mnkgj.k gS % 
 

27. Glycogen is an example of : 

(A) izksVhu dk  (A) Protein 

(B) olk dk  (B)  Fat 

(C) tUrq LVkpZ dk  (C)  Animal starch 

(D) ikni LVkpZ dk  (D)  Plant starch 

28. fuEufyf[kr esa ls dkSu&lk lgh lqesfyr ugha 

gS \ 

 
28. Which of the following is not correctly 

matched ? 

la;qfXer izksVhu izksLFksfVd lewg  Conjugated Protein Prosthetic Group 

(A) U;wfDy;ksizksVhu U;wfDyd vEy  (A) Nucleoprotein Nucleic acid 

(B) ØkseksizksVhu jaxhu inkFkZ  (B)  Chromoprotein Coloured pigments 

(C) XykbdksizksVhu fyfiM  (C)  Glycoprotein Lipids 

(D) QkWLQksizksVhu QkWLQksfjd vEy  (D)  Phosphoprotein Phosphoric acid 

29. ,Utkbe dk rkyk ,oa dqath fl)kUr 

izfrikfnr fd;k Fkk % 

 
29. Lock and key theory of enzymes was 

proposed by : 

(A) ,y- ekbdsfyl ,oa es.Vu] 1913 us  (A) L. Michaelis and Menten, 1913 

(B) ,fey fQ’kj] 1898 us  (B)  Emile Fischer, 1898 

(C) Qad us  (C)  Funk 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

30. ^tho jlk;u foKku* fdrkc ds ys[kd gSa % 
 

30. Authors of the ‘Biochemistry’ book is : 

(A) Mh- ds- nkl  (A) D. K. Dass 

(B) MkW- Vh- ch- flag  (B)  Dr. T. B. Singh 

(C) jsM~Mh ,oa jsM~Mh  (C)  Reddy and Reddy 

(D) MkW- fou; flag  (D)  Dr. Vinay Singh 
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31. d`f”k jlk;u’kkL= ds tud gSa % 
 

31. Father of Agricultural Chemistry is : 

(A) ÝSfMªd gksyj  (A) Fredrich Wholer 

(B) ts- okWu yhfcx  (B)  J. Von Leibig 

(C) fofy;e lhys  (C)  William Seeley 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

32. eksukslSdsjkbM~l dk lkekU; lw= gS % 
 

32. General formula of monosaccharides  

is : 

(A)  2 1
C H On n n n

  (A)  2 1
C H On n n n

 

(B)  2C H On n n    (B)  2C H On n n   

(C)  6 10 5C H O
n
   (C)  6 10 5C H O

n
  

(D) mi;qZDr lHkh  (D)  All of the above 

33. 6 12 6C H O  v.kqlw= gS % 
 

33. 6 12 6C H O  is a molecular formula of : 

(A) Xywdkst dk  (A) Glucase 

(B) ÝDVkst dk  (B)  Fructose 

(C) Xywdkst ,oa ÝDVkst nksuksa dk  (C)  Both Glucose and Fructose  

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

34. fuEufyf[kr esa ls dkSu&lk f}’kdZjk dk 

mnkgj.k ugha gS \ 

 
34. Which of the following is not an example of 

Disaccharides ? 

(A) lqØkst  (A) Sucrose 

(B) lsyksck;kst  (B)  Cellobiose 

(C) ekYVkst  (C)  Maltose 

(D) jSfQukst  (D)  Raffinose 
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35. lqØkst ,oa Vªkbgykst mnkgj.k gSa % 
 

35. Sucrose and Trihalose are examples of : 

(A) vipk;h ‘kdZjk ds  (A) Reducing sugar 

(B) xSj&vipk;h ‘kdZjk ds  (B)  Non-reducing sugar 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

36. fd.ou izfØ;k dk vfUre mRikn gS % 
 

36. End product of fermentation process is : 

(A) 6 11 5 2C H O OCaOH H O    (A) 6 11 5 2C H O OCaOH H O   

(B) 6 12 6 6 12 6C H O C H O    (B) 6 12 6 6 12 6C H O C H O   

(C) 3 2 22CH CH OH + 2CO    (C) 3 2 22CH CH OH + 2CO   

(D) mi;qZDRk lHkh  (D)  All of the above 

37. fuEufyf[kr esa ls dkSu&lk ty esa 

v?kqyu’khy gS \ 

 
37. Which of the following is insoluble in  

water ? 

(A) eksukslSdsjkbM~l  (A) Monosaccharides 

(B) vksfyxkslSdsjkbM~l  (B)  Oligosaccharides 

(C) nksuksa (A) vkSj (B)   (C)  Both (A) and (B) 

(D) ikWyhlSdsjkbM~l  (D)  Polysaccharides 

38. vksfyxkslSdsjkbM~l dk ty vi?kVu djus 

ij eksukslSdsjkbM~l ds 
------------------------- 

v.kq iznku 

djrs gSaA 

 
38. Oligosaccharides provide ................... units 

of monosaccharides on hydrolysis. 

(A) 1  (A) 1 

(B) 2  (B)  2 

(C) 2&10  (C)  2-10 

(D) vla[;  (D)  Infinite 
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39. ,d xzke izksVhu ÅtkZ iznku djrh gS % 
 

39. One gram protein provides energy : 

(A) 4-3 fd- dSyksjh  (A) 4.3 kcal 

(B) 4-2 fd- dSyksjh  (B)  4.2 kcal 

(C) 5-4 fd- dSyksjh  (C)  5.4 kcal 

(D) 5-8 fd- dSyksjh  (D)  5.8 kcal 

40. nw/k esa dkSu&lk ,Utkbe ysDVkst ‘kdZjk dks 

rksM+ nsrk gS \ 

 
40. In milk which enzyme break down lactose 

sugar ? 

(A) lqØst  (A) Sucrase 

(B) dksystu  (B)  Collagen 

(C) ysDVst  (C)  Lactase 

(D) mi;qZDr lHkh  (D)  All of the above 

41. v.Ms ds lQsn Hkkx esa dkSu&lk izksVhu ik;k 

tkrk gS \ 

 
41. Which protein is found in egg white part ? 

(A) XyksC;wfyu  (A) Globulin 

(B) tsu  (B)  Zein 

(C) vksoyC;wfeu  (C)  Ovalbumin 

(D) mi;qZDr lHkh  (D)  All of the above 
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42. lHkh ,Utkbe gksrs gSa % 
 

42. All enzymes are : 

(A) dkcksZgkbVªsV  (A) Carbohydrate 

(B) izksVhUl  (B)  Proteins 

(C) U;wfDyd vEy  (C)  Nucleic acid 

(D) Mh- ,u- ,-  (D)  D. N. A. 

43. vko’;d vehuks vEyksa dh la[;k gS % 
 

43. Number of essential amino acids is : 

(A) 10  (A) 10 

(B)  20  (B)  20 

(C)  30  (C)  30 

(D)  40  (D)  40 

44. cky ,oa uk[kwu esa dkSu&lh izksVhu ik;h 

tkrh gS \ 

 
44. Which protein is found in hairs and nail ? 

(A) ,YC;wfeu  (A) Albumin 

(B) ek;ksflu  (B)  Myosin 

(C) fdjsfVu  (C)  Keratin 

(D) dksystu  (D)  Collagen 

45. nw/k esa dkSu&lk izksVhu ik;k tkrh gS \ 
 

45. Which protein is found in milk ? 

(A) XyksC;wfyu  (A) Globulin 

(B) fdjsfVu  (B)  Keratin 

(C) dslhu  (C)  Casein 

(D) mi;qZDr lHkh  (D)  All of the above 
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46. fuEufyf[kr esa ls dkSu&lk O;qRikfnr 

fyfiM~l dk mnkgj.k gS \ 

 
46. Which of the following is an example of 

derived lipid ? 

(A) dSjksfVukbM~l  (A) Carotenoids 

(B) VihZUl  (B)  Terpens 

(C) LVsjkbM~l  (C)  Steroids 

(D) mi;qZDr lHkh  (D)  All of the above 

47. fuEufyf[kr esa ls dkSu&lk lgh lqesfyr ugha 

gS \ 

 
47. Which one of the following is not correctly 

matched ? 

     Qly               LVkpZ           Crops                      Starch 

(A) eDdk                  65%  (A) Maize                        65% 

(B) /kku                   75%    (B) Rice                          75%   

(C) vkyw                   80%  (C) Patato                       80% 

(D) xsgw¡                    50%    (D) Wheat                       50%   

48. lsY;wykst izkIr dh tkrh gS % 
 

48. Cellulose is obtained from : 

(A) twV ls  (A) Jute 

(B) lubZ ls  (B)  Sunhemp 

(C) dikl ls  (C)  Cotton 

(D) mi;qZDr lHkh  (D)  All of the above 
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49. fuEufyf[kr eas ls dkSu&lh ‘kdZjk esa 

CHO  ¼,fYMgkbM lewg½ ik;k tkrk gS \ 

 
49. In which of the following sugars – CHO 

(Aldehyde group) is found ? 

(A) Xywdkst  (A) Glucose 

(B) ÝDVkst  (B)  Fructose 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

50. fuEufyf[kr esa ls dkSu&lk lgh lqesfyr  

gS \ 

 
50. Which of the following is correctly  

matched ? 

(A) isIVksUl  ljy izksVhu  (A) Peptons  Simple protein 

(B) ,YC;wfeu  la;qDr izksVhu  (B)  Albumins  Conjugated protein 

(C) XykbdksizksVhu  O;qRikfnr izksVhu  (C)  Glycoprotein  Derived protein 

(D) QkWLQksizksVhu  la;qDr izksVhu  (D)  Phosphoproteins  Conjugated  

                                                  proteins 

51. Qyksa esa dkSu&lh ‘kdZjk ik;h tkrh gS \ 
 

51. Which sugar is found in fruits ? 

(A) ysDVkst  (A) Lactose 

(B) lqØkst  (B)  Sucrose 

(C) Xywdkst  (C)  Glucose 

(D) ÝDVkst  (D)  Fructose 

52. lqØkst dk ty&vi?kVu djus ij izkIr gksrs  

gSa % 

 
52. On hydrolysis sucrose provides : 

(A) ,d v.kq Xywdkst $ ,d v.kq ÝDVkst  (A) One molecule of Glucose + One 

molecule of Fructose 

(B) nks v.kq Xywdkst  (B)  Two molecules of Glucose 

(C) nks v.kq Xywdkst $ ,d v.kq ÝDVkst  (C)  Two molecules of Glucose + One 

molecule of Fructose 

(D) Xywdkst ds vla[; v.kq  (D)  Infinite molecules of Glucose 
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53. fuEufyf[kr esa ls dkSu&lk lgh lqesfyr ugha 

gS \ 

 
53. Which of the following is not correctly 

matched ? 

           ‘kdZjk           lzksr            Sugars                   Sources 

(A) Xywdkst            e/kq  (A) Glucose                  Honey 

(B) ysDVkst            nw/k  (B)  Lactose                   Milk 

(C) lqØkst            vkyw  (C)  Sucrose                   Potato 

(D) ekYVkst           tkS  (D)  Maltose                   Barley  

54. fuEufyf[kr esa ls dkSu&lk ,YMkst ‘kdZjk 

ugha gS \ 

 
54. Which of the following is not a aldose  

sugar ? 

(A) eSukst  (A) Mannose 

(B) Xywdkst  (B)  Glucose 

(C) ÝDVkst  (C)  Fructose 

(D) XkSysDVkst  (D)  Galactose 

55. ^fyfiM* ‘kCn dks izfrikfnr fd;k Fkk % 
 

55. Word ‘Lipid’ was proposed by : 

(A) ts- okWu yhfcx] 1803 us  (A) J. Von Leibig, 1803 

(B) lksjsUlu] 1908 us  (B)  Sorenson, 1908 

(C) yqbZ ik’pj] 1882 us  (C)  Louis Pasteur, 1882 

(D) Cywj] 1943 us  (D)  Bloor, 1943 

56. fuEufyf[kr esa ls dkSu&lk QkWLQksfyfiM dk 

vo;o ugha gS \ 

 
56. Which of the following is not a component 

of phospholipid ? 

(A) QkWLQsV  (A) Phosphate 

(B) izksVhu  (B)  Protein 

(C) fXyljkWy  (C)  Glycerol 

(D) ,YdksgkWy  (D)  Alcohol 
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57. VªkbfXyljkbM~l gSa % 
 

57. Triglycerides are : 

(A) ty esa ?kqyu’khy  (A) Soluble in water 

(B) ty esa v?kqyu’khy  (B)  Insoluble in water 

(C) ty esa vkaf’kd :i ls ?kqyu’khy  (C)  Partially soluble in water 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

58. fyfiM~l dk vkisf{kd ?kuRo gksrk gS % 
 

58. The specific gravity of lipids is : 

(A) 0.2  (A) 0.2 

(B)  0.8  (B)  0.8 

(C)  1.00  (C)  1.00 

(D)  1.5  (D)  1.5 

59. dkSu&lk izksVhu ty&vi?kVu djus ij 

dsoy vYQk&,ehuks vEy dk feJ.k iznku 

djrk gS \ 

 
59. Which protein gives only mixture of  

 -amino acid on hydrolysis ? 

(A) ljy izksVhu  (A) Simple protein 

(B) la;qfXer izksVhu  (B)  Conjugated protein 

(C) O;qRikfnr izksVhu  (C)  Derived protein 

(D) mi;qZDRk lHkh  (D)  All of the above 

60. izksVhu cuh gksrh gS % 
 

60. Protein is made up of : 

(A) C, H, O, N, S, P ls  (A) C, H, O, N, S, P 

(B)  C, H, O ls  (B)  C, H, O 

(C)  C, H, O, K, P, S ls  (C)  C, H, O, K, P, S 

(D)  C, O, Fe, Ca, Mg ls  (D)  C, O, Fe, Ca, Mg 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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